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'R mwn: dispute onan/ oY " re: role of NNaY NYpn as a focal point of H10a

a

b

agreed: if he intended to eat »9w or burn ymp the next day — %wa > no
i note: need to mention that > agrees — so that we don’t infer (from &2>0) that he holds 9'nn »xna poian pr
but if: he intended to burn n1a5 the next day
i o199
ii oo Swa
1 Argument: no different than nar (i.e. 7”011 with intent to burn R after the time)
2 Response: the blood and omx are all from one animal; the n112% comes from a separate source

Analyzing »’s opinion

a

571.7™’s reason is that a 1'nn cannot be %391 another 7'nn; same applies to 2 nnav »1a
i Justification: R0 that in re: N11Y, reason is that it is a different substance than ymp (untrue in re: o2’11) - 5"np
ii  Challenge: >'s retort in the mwn — due to n111% being a different substance
1 Defense: nmann jn NR means the sequence isn’t set — can bring n11a5 or ymp first
iii 237 agree that 1nnn n& %0 1NN PR — unless they were set in one "9 (as in N2 ymp) which “unites” them

"Ry "7’s ruling — if a 91 collects the n11Y — Y109

a

/7107 /7. it is akin to na%n
i Proof: our mwn counts n¥np (:n0NY); P70 (:0350), and nvpn (::77071); but *91 NN isn’t similar to nTh nYap
1 Reason: o1n n%ap happens of its own (the blood flows in); unlike >531 1nn
2 Rather: since it is necessary for the process, we equate them
(a) Similarly: since Na% V1p’5 is necessary for the process, we count it as N30
ii  Rejection: ¥931 1nn is similar to oTh nYap — regardless of Xynn vs. w11; both are *731 wiTp, therefore equivalent

12 mwn: dispute o'non/™ re:»wa of 1 of 2 attached focal points of eating

a
b

If: he slaughtered both nqxy »w1) intending to eat 1 of onn 'nw the next day

Or: burned both N1 »>1a intending to eat 1 of the 070 of D190 onb the next day
i spy /1. the one he intended to be eaten late is 919, the other %08 (2 no n13)

ii ~ pwom both are 9wa > nd

Analysis of »77's opinion:

a

RN ;" would say that if he was Y391 regarding one body part, the rest is 7w3 (e.g. R/L)
i ~720: just as kMY (afterwards, when separated), the nkmv of one limb doesn’t affect the other
i~ #77v.1-1nnbut not the other part
iii ~Challenge (37): ruling that o515 there is no n13 (for 19 of nn%n 'nW) unless he intends a m13 of both of them
1 Note: this can’t be 131, as they would allow for s even if only one was the object of 919 nawvnn
2 Must be: o "1 — and he regards the two as “one unit” - certainly he’ll consider limbs to be one
3 Answer: author is »27 who rules that in case of onon nw:
(a) If: he slaughters 1 to eat %2 n>1a from one onY, then slaughters the other to eat ¥ n’1a from the other — valid
(i) Implication: if he declared 1 n>r3 from both — would be %19
(if) Must be: according to »ov " (to 13129, don’t need both); but then we are back to “square one”
(b) Answer: follows 1127; don’t read “1n'nwa” (both loaves); rather “jn”wa” (flashpoint must be o'was 2 nvMY)
(i) But: focal point may be just one loaf; this is taught contra n”y —nn »xna woan
(if) Challenge: why use verbiage of n%y5
1. If: it is representing 0y "7 and is requiring both 1021wa and ;P nwa
a. Then: we understand 0% —opposed n™ (n"n2 wvian) and 1127 (must focus on both loaves)
2. But if: it is representing 1117, only requiring 11731 (contra n"7) —
a.  Then: "0%y5”" seems unnecessary
iv  Challenge: »27 quoted »ov "7 (re: Y19 in same locus as focal point) if he was nva and did nvnw (of nPnva nron)
with intent to spill 7w the next day — 5»a
1 Yet: what are 01w being %3an? Can’t be 07— per 27 onar
(a) Must be: 71 — so even "wa about 07 invalidates 9w3; certainly Y19 about R “infects” L
v Challenge: our mwn — oy "1 admits that ymp is a focal point of Y19 — must be for 0»1w > 1"p that (R > L)
1 Conclusion: n™ is rejected
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1101 9: the 19N relates to bNYn *NY as one unit and as separate units

i support: the 7N made each dependent on the other (1); yet instructed they be processed separately (=2)

ii  therefore: if he “mixes” them, they are treated as one; if not, treated independently

iii  follow-up questions (7211 77): if he was Y3an about one of the types of nTin »nn% or MmN narn, do o'nNIN/™ maintain?

1

Answer: report from »X — the dispute is maintained in both of those cases

VI Backdoor to 13129/727:

Ruling re: nara 5. if he had intent for ¥ n>1y at no'nw and Y4 at 7”11 — they are merged to generate 51va

i Some: limit to np»n nvnY, which are 1NN, but not Na%m nvap

ii ~ Others: reason that if np»an V'Y, which are at polar ends of the process, can merge, v'p that n35m nYap merge

challenge: " taught that each of the 4 mmay stands alone and can’t be merged

i resolution (837): "9’s rule follows 711 (above) who permits loaves if he did nv’nw on each wa> with intent to eat %2
13 of one loaf 1ntY yin

a

1

challenge (»72a8): »11 only allowed where there is ¥2 1'nn (1 w13) and %2 eating ( V2 n'1 of one loaf)

(a) but: where there is a full 1'nn (e.g. nv'nY) — would he validate?

Block (8311 27 92 #37): if 11 holds that full 1>nn to ¥2 n%aR is 59, he should extend 104 (as 13277 M) to Y2 nn
and ¥ 09N

(a) Support: »ov 1 extends such a N1 (e.g. in our Nwn re: N1a5, which he holds is not 59, yet — 5109)

(b) And: 1127 (ahead n:1), contra 0™, if he is only 39n with ymp or n111% — not N5 (2 "109)

Defense (728): in those cases, there is a similar case that may happen (e.g. n11% ymp should be invalidated as a
precaution against nnnT ymp; ym1p alone should be 9109 as a precaution against R0In NnINT YNIP)

(a) But: here, there is no other %2 1'nn + %2 n%9x that we would need to be 711

Note: support that 1127 employ this reasoning to invalidate, as they add (in n:1) that they assent to n™ in case
of mmin without nna% — which is obvious

(a) Rather: the reason it is stated is to explain why they are 5019 in case of ympa %100 (alone) - as a nn
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